
puzzles

ADD-IN Directions: The object of the puzzle is to

discover the number in the center circle by adding all

four numbers in the four slots just outside the center
circle. To determine the number of an empty slot

add the 2 or 3 numbers directly adjacent to the
empty slot in the next ring outward, always adding

inward. Finally, the outermost ring can only have the

numbers 0, 1 or 2. This example shows the three

adjacent outer numbers 0 + 1 + 2 = 3, 3 being the
number in the adjacent inner slot. ~IJ
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